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  Motivation

A competitive explanation 

is through the    mixingΞc − Ξ′￼c

2022 Review of Particle Physics (using only the Belle measurement as input)

Phys. Rev. Lett. 127 no. 12, (2021)  

Phys. Rev. Lett. 127 no. 27, (2021) 

PTEP 2022 (2022) 083C01.  

Zhang et al., (2022)  

Geng, Liu, and Tsai, 2021 


Zhao, 2021 

Faustov and Galkin, 2019 


Geng et al., 2019 


Zhao, 2018 

Geng et al., 2018  

Geng et al., 2017  

Azizi, Sarac, and Sundu, 2012 


Liu and Huang, 2010 


Big discrepancy!

Experimental studies

Theoretical studies



   mixingΞc − Ξ′￼c

In heavy quark limit, heavy baryon with one charm     

quark can be classified according to angular 

momentum  of  light quark system. Jqq

Jqq = 0

Jqq = 1

Mixing effect can be described by a 2 × 2 matrix

Energy 

eigenstates

Flavor 

eigenstates
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   mixingΞc − Ξ′￼c

Some results from various methods



  Lattice QCD

Lattice QCD
Super Computer

QCD is the theory to describe the strong interaction；


When the energy scale is lowered, the interaction becomes stronger, 


    and QCD enters into the non-perturbative region.


Lattice QCD(Wilson,1974):  Non-perturbative methods 


based on the first principles.


Non-perturbative region



Charm quark on discrete lattice:

consider both IR and UV effects:

for , and mπ = mphy
π ∼ 140MeV mc ≃ 1.3GeV,

L ≳ 5.6fm

a−1 ≫ 1.3GeV ≃ (0.15fm)−1
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Lattice simulation

Charm quark on discrete lattice:

consider both IR and UV effects:

mπL ≳ 4, and a−1 ≫ mass scale

for , and mπ = mphy
π ∼ 140MeV mc ≃ 1.3GeV,

L ≳ 5.6fm

a−1 ≫ 1.3GeV ≃ (0.15fm)−1

a

L

× T

wilson gauge action lattice fermion action

Quark

Gluon



  CLQCD ensembles

An improved method to determine the   mixing

                            H. Liu et al., arXiv:hep-ph/2309.05432

Ξc − Ξ′￼c

 mixing from Lattice QCD

                        H.Liu et at., Phys.Lett.B 841 (2023) 137941 
Ξc − Ξ′￼c



   mixing from LQCDΞc − Ξ′￼c

Baryonic operators of    eigenstatesSU(3)F

Build the 2x2 correlation function matrix of  lattice calculation
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 Mixing angle from generalized eigenvalue problem(GEVP)

Solving the generalized eigenvalue problem:
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C(t)vn(t) = �n(t)C(tr)vn(t)

Mass from eigenvalues

<latexit sha1_base64="HCt/UkbEvonLfTzfnf9fUSnfRZU="></latexit>

�n(t) = c0e
�mn(t�tr)

⇣
1 + c1e

��E(t�tr)
⌘

<latexit sha1_base64="SAd4fU7Xh2GnAkUNFpr86UD1lRY="></latexit>

v1 =

s

1 +
A2

p cot
2 ✓

B2
p

 
Ap

Bp
cot ✓

1

!
,

v2 =

s

1 +
A2

p tan
2 ✓

B2
p

 
�Ap

Bp
tan ✓

1

!

Mixing angle from eigenvectors

Model average method



 Mixing angle from generalized eigenvalue problem(GEVP)

Solving the generalized eigenvalue problem:
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Mixing angle from eigenvectors

Model average method
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 Mixing angle from generalized eigenvalue problem(GEVP)

Solving the generalized eigenvalue problem:
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 Mixing angle from generalized eigenvalue problem(GEVP)

Solving the generalized eigenvalue problem:
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 Chiral and continuum extrapolation 

Extrapolation formula:
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One can extract the mixing parameters from a joint analysis of  both 

diagonal and non-diagonal terms.

Insert the mass eigenstates and consider the excited state contributions are greatly suppressed, 


parametrization form of  correlation function matrix elements:

 Mixing angle from correlated joint fit
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  dependencemc

In HQET, the mixing would vanish in the heavy-quark limit.


Valence quark mass in tunable in lattice QCD.


Solve the baryon masses and mixing angle from different charm quark masses;


Then fit the  dependence of  :mc θ
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  An improved method of    mixingΞc − Ξ′￼c

SU(3) flavor 

symmetry breaking

The QCD Lagrangian

with

Therefore, the Hamiltonian is correspondingly derived as

with



  Energy(mass) eigenstates and Flavor eigenstates

Rotation
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under the   symmetry
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  Energy(mass) eigenstates and Flavor eigenstates

Rotation
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 Extraction of  the matrix elements

We want 

We construct and simulate

Operators of  SU(3) 

flavor eigenstates  and 3̄ 6

Three-point function
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Inserting the hadronic states and keeping the lowest two 



 Extraction of  the matrix elements
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Combining the 3pt and 2pt, one can remove the 


dependence on the decay constants



 Numerical results of  the mixing angle

 


  

from PDG.

mΞc
= 2.468GeV

mΞ′￼c
= 2.578GeV

from the fitting


|M6−3̄
s̄s | = 0.155(14)GeV

 

from PDG

ms − mu ≃ 0.12GeV

The mixing angle is about  and consistent with the previous lattice investigation.
1∘

statistical from quark mass difference



 SUMMARY


We have explored the  mixing by two different methods


Calculate the two-point correlation matrix and adopt two independent methods to determine 

the mixing angle;


 Develop an improved method to explore the mixing which arises from the SU(3) flavor 

symmetry breaking effects.


Our numerical results are consistent and are not able to explain the large SU(3) symmetry 

breaking in semileptonic charmed baryon decays.


 


OUTLOOK


The two methods can be used to other interesting examples such as the  and 

 mixing which exhibit effects on multiple decay channels…

Ξc − Ξ′￼c

K1(1270)

K1(1400)

Thank you!
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